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Use only Black Ball point pen provided by C.B.S.E.
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INTERNATIONAL AND AREA STUDIES
Paper — 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All
questions are compulsory.

1. Which one of the following is not included in the key assumptions of Neo-realism ?

(1) The international system is anarchic, implying that there is no central authority
capable of controlling state behaviour.

(2) States claiming sovereignty will necessarily acquire offensive military capabilities to
defend themselves.

(3) States can never be sure of the intentions of their neighbours and will want to
maintain their survival.

(4) Globalisation has broken all norms of State behaviour.

2. ldentify the correct code from the codes given below for Assertion (A) and Reason (R) :

Assertion (A) : Realism and Pessimism are two words that exist in symbiotic relation
with one another.

Reason (R) : Realism is a complement to pessimism as a way of saving any confusion in
international politics.

Codes :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are incorrect.

(3) (A)is correct, but (R) is not completely correct.

(4) (A)is not completely correct, but (R) is correct.

3. Which one of the following approaches does not give importance to the role of the State as

an actor ?
(1) Dependency Model (2) Realist Model
(3) Neo-realist Model (4) Interdependence Model
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List— I (Theory)
a. Liberal Feminism

b. Feminist Social Constructivism

c. Feminist Post Structuralists

d. Postcolonial Feminism

Codes :

a b c d
Q) i v i ii
(2 iv i ii i
(3) ii i i v
4) i ii iv i

Paper-II

4.  Match the following books as given in List — | with their respective authors in List — I, by
using the code mentioned below :
List— 1 (Books) List— Il (Authors)
a. Man, the State and War i.  B.Mabee
b. People, States and Fear ii.  Cynthia Enloe
c. Bananas, Beaches and Bombs iii. B.Buzan
d. The Globalization of Security iv. K.N.Waltz
Codes :
a b c d
@ i i i v
(2 i i iv
(3) iv i ii [
(4) iii v i i
5. Match List — I with List — Il using the codes given below to identify the correct answer :

List — 11 (Ideas)

I.  Understanding of reality of power
relations through  knowledge and
language

Ii.  Understanding of women’s
subordination can be made within their
own cultural context rather than through
universal understanding of women’s
needs.

iii. Equality of women can be achieved by
removing legal and other obstacles.

iv. Understanding of the process whereby
ideas about gender influence global
politics and politics shape ideas about
gender.
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10.

Who among the following opined that “Religion is not the opium, but vitamin of the
people” ?

(1) Karl Marx (2) Fidel Castro
(3) Regis Debray (4) Che Guevara

Cultural nationalism is a form of nationalism that places primary emphasis on which one
of the following ?

(1) A discrete political community
(2) A distinctive civilisation

(3) A modern state

(4) An artificial entity

Identify the correct code for the Assertion(A) and Reason (R) as given below :

Assertion (A) : Disorder in part of the globe combined with global media coverage and
the speed of travel to feed insecurity is creating overlapping global security
complexes.

Reason (R) : States no longer have a monopoly on the means of mass destruction.
Codes :

(1) (A)is correct, but (R) is not correct.

(2) (A)isnot correct, but (R) is correct.

(3) Both (A) and (R) are not correct.

(4) Both (A) and (R) are correct, and (R) supports (A).

Who among the following labelled nuclear weapons as ‘paper tigers’ ?
(1) XiJinping (2) Mao Tse Tung
(3) M. Gorbachev (4) Ronald Reagan

Who among the following strategic thinkers considered “National character” and
“Governmental character” as two elements of sea power ?

(1) A.T.Mahan (2) Karl von Clausewitz
(3) Nelson (4) A.Jomini
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11.

12.

13.

14.

15.

Which one of the following groups or inter-related factors adds flavours to the
globalization processes ?

(1) Technological change, ICT and social organisations
(2) Markets and expanding capitalism and trade
(3) Politics of power, interests and institutions

(4) Self-determination as a global necessity

As part of redefining national security who included environmental security within the
overall understanding of security ?

(1) Richard Falk (2) Richard Ullman
(3) Lester Brown (4) Gro Harlem Brundtland

Which one of the following doesn’t constitute the Westphalian model of international
politics ?

(1) Territoriality (2) Sovereignty

(3) Autonomy (4) Globality

Who among the following authors wrote “Global Responsibility : In Search of a New
World Order” ?

(1) Hans Kung (2) J.M. van der Kroef
(3) George F. Kennan (4) D.G.E. Hall

Identify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : Globalization bears new risks to international security and has
simultaneously increased the difficulty of tackling such risks.

Reason (R) : Economic globalization has provided free circulation of drugs, nucelar
material and dual-use technologies on a global scale among state and non-state
actors.

Codes :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are incorrect.

(3) (A)is correct, but (R) is not correct.
(4) (A)isnot correct, but (R) is correct.
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16.  Which one of the following institutions was not associated with the Brelton Woods system
in order to create a New International Economic Order ?

(1) IMF (2) GATT
(3) World Bank (4) ADB

17.  Match List — I (TNCs) with List — Il (Products) using the codes given below :

List— 1 (TNCs) List— 11 (Products)
a. Marcopolo I.  Banking
b. Bombardier i.  Oil
c. Citygroup iii. Bus
d. Bridas iv. Railway Coaches
Codes :

a b c d
Q) i ivo i i
) iv i i i
@) i i i v
@ i i v i

18. ldentify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : The expression ‘Tragedy of Commons’ refers to a process in which
rational users of natural resources, might eventually, in the absence of a regulatory
authority, over-use and exhaust the resources.

Reason (R) : This problem affects only the developing world.
Codes :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are not correct.

(3) (A)is correct, but (R) is not correct.

(4) (A)isnot correct, but (R) is correct.
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19. Identify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : National security increasingly begins abroad, not at the border, since the
borders are as much carriers as barriers to transnational organised violence.

Reason (R) : Inter-state war has been almost entirely supplanted by intra-state and trans-
state conflict located in the global South, or on the perimeters of the West.

Codes :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are not correct.
(3) (A)is correct, but (R) is not correct.

(4) (A)isnot correct, but (R) is correct.

20. Arrange the following treaties in their ascending chronological order and use the code

given below :

I. Oslo Accords ii.  SALT I Treaty
iii.  Limited Test Ban Treaty iv. Sea-Bed Treaty
Codes :

@) i, ii, i, iv

(2) i, dii, v, i

(3) i, v, i, i

(4) v, iii, i, i

21. The term “Global Zero” is related to which one of the following ?
(1) Elimination of nuclear weapons
(2) Elimination of biological weapons
(3) Elimination of chemical weapons

(4) Elimination of weather weapons

Paper-I1 12 J-90-16
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22.

23.

24.

25.

Identify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : The semantic muddle over the definition and interpretation of terrorism, is
being misused by some states as a cover-up by them in their support of trans-border
terrorism and in pursuit of their foreign policy strategy against other states.

Reason (R) : This has resulted in the impasse over the definition of terrorism and the
adoption of a comprehensive convention on International Terrorism.

Codes :

(1) Both (A) and (R) are correct and (R) supports (A).

(2) Both (A) and (R) are not correct.

(3) (A)is correct, but (R) is not correct.

(4) (A)is not correct, but (R) is correct.

Identify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : In the post-cold war period, India has followed a policy of multi-
engagement by improving its relations with all the major powers.

Reason (R) : India is no longer a member of the Non-alignment movement.

Codes :

(1) Both (A) and (R) are not correct.

(2) Both (A) and (R) are correct.

(3) (A)is correct and (R) is not correct.

(4) (A)isnot correct and (R) is correct.

Which of the following seas are connected by the Suez Canal ?
(1) Black Sea and Mediterranean Sea (2) Caspian Sea and Black Sea
(3) Mediterranean and Red Sea (4) Red Sea and Arabian Sea

Arrange the following events in ascending chronological order using the codes given
below :

i. Baghdad Pact ii.  Creation of Israel

iii.  Egyptian Revolution iv. Establishment of Arab League
Codes :

@ i [ iv il

2 iv i iii [

3) i i i v

(4) i i iv [
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26. Match the following places which became famous during the Arab Spring as given in
List- I with the Countries to which they belong in List-11, using the codes given below :

List— 1 (Place) List— 11 (Country)
a. Tahhrir Square i.  Oman
b. Green Square ii. Bahrain
c. Pearl Roundabout iii. Egypt

d. Globe Roundabout iv. Libya
Codes :
a b C d

@ @i v i
@ Qi i v
@) @i v i
@ v i i

27. Match the following places mentioned in List — | with the countries they are associated
with as mentioned in List — I1, using the codes given below :

List — I (Places) List — 11 (Country)
a. West Bank i. Syria
b. Gaza ii.  Jordan
c. Jerusalem iii. Egypt
d. Golan Heights iv. lsrael
Codes :

a b c d

@ v i Qi i
@ i i v
@) i v di
@ i i Qi v
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28.  What made India to break its diplomatic relations with South Africa in 1946 ?
(1) Humiliating treatment given to Mahatma Gandbhi.
(2) South Africa’s policy of Apartheid.
(3) Discriminatory treatment given to the people of Indian origin in South Africa.

(4) Barriers imposed on Indian trade by South Africa.

29. ldentify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : Subsequent to the war, the population of Bosnia and Kosovo were
distinguished according to their respective ethnic origins.

Reason (R) : The politics of ethnic cleansing proved to be the best way to settle such
conflicts between ethnic groups.

Codes :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are incorrect.

(3) (A)is correct, but (R) is not correct.

(4) (A)isnot correct, but (R) is correct.

30. The Integration of Europe in the mid eighties seemed appropriate due to which of the
following major reasons ?

(1) Increasing competition against US, growth of Japanese markets, preparation of a
single market for Europe.

(2) Capturing Third World markets, preparation of a single market for Europe.

(3) Increasing competition against US, growth of Japanese markets, growth of Chinese
Economy.

(4) Promotion of currency deregulation, subordination of national economic regulations,
promotion of free market economy.
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28. oY 1946 § WA = TAUT STRISH o WY TGS Gae oy oig & ?

1)
)
3)
(4)

TETCHT T o 9T STTHSTeh Ha8R
TS o I H 38707 STRIeHT i it
RTOT SToRYSRT H YR HoT o AT o |1 WEWIE qof g

TTRI0T 3TRISHT TRT STeil T AT A9 | el

29. fr=fafad aifiewem (A) 3R T (R) % o3 &l e &1 92 iy :

AR (A) : & o VAN ST T BT B ST Hl 3Tk STH-370H Jodd oA

STER Siviteg foram T |

& (R) ;ST W ST Ja Sl % &g T et B Huem & ford 39

%<

¢ .

(1)
(2)
(3)
(4)

RED R

(A) 3 (R) 31 W&l € |
(A) 3R (R) ST TeAd € |
(A) T&l &, W= (R) Toid & |
(A) T &, W (R) WeT € |

30. 3Tl % T9Ih & A H I o UhIHR0T BT (FeATcARGd | & DI T T&T HRUT Wil &l ¢

1)

(2)
©)

(4)

J-90-16

TIFT T 3TN & fordeg Tecdl T, ST & SR 61 faehrd, R o folt ushel SR
1 fmToT |

TIERT JTT o SISIRT 3l FHesTT AT, I & [o1T Tehel ST T T |

TS T STARET & Rgelh el T, ST o STSTRT 6 o, =T ereieaen
o |

g1 a9 ot Tar 6 ST &l Sgran 391, IR ST fafaami 1 T, s
T ST i dIgaT f§ar ST |
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31.

32.

33.

Match colonies as given in List — | with their colonial powers mentioned in List — Il and
use the correct codes given below :

List- 1 List— 11

(Colonies) (Colonial Powers)
a. Burkina Faso i. Britain
b. Angola ii. Portugal
c. Botswana iii. Belgium
d. Burundi iv. France
Codes :

a b C d

Q) i v i i
(2 Wi i v [
(3) iv i i i
4) i iv i i

Identify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : The Brussels Pact intended to extend collective European Control over
naval and aerial armament.

Reason (R) : The revival of German militarism was posing a threat to European States as
a potential hegemon.

Codes :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are incorrect.

(3) (A)iscorrect and (R) is not correct.

(4) (A)isnot correct and (R) is correct.

The major reason for the US Congress for not ratifying the SALT Il was due to which one
of the following reason ?

(1) Rise of fundamentalism in the world
(2) Growth of Chinese influence in the Middle East
(3) Soviet invasion of Afghanistan

(4) Hostage crisis
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31.

32.

33.

T 53 T T P B GeEar ¥ g - | H I sulest @ ogE - 1 A e S
St i A e A

e - | =t - 1
(Fafasm (Arafafyrs s
a. DT HrEl i, e
b, @ i, T
c. SicHarT iii.  Sfesam
d. o iv. W

@ i v i ii
2 i i iv i
(3) iv i i ii
4 i \Y, ii I

I fod T efivee (A) 91 9% (R) & o8 9t %2 1 =2 ST
Ao (A) : 8T G 1 ST ARG 99 9 A g A H AMies JRIOE e

ST a1 |

& (R) ;ST A % R W SR & ST % SROT AU 9 sl SieRa 9 &
Y § G WA HY @ T |

HE

(1) (A) IR (R) I I |

(2) (A) 3R (R) IHI T E |

(3) (A) T g, W (R) T ¢ |

(4) (A) e & W (R) Wl € |

fAfeiad o | I g T57 ST HUF 5RT G160 11 i gt 721 68 ST ST 7T HRO7 o7 ?
(1) Tava § wheansdr 1 3| |

(2) HHYEH EH F UE H g |

(3) STHMFEAN T EF F AGHAI |

(4) Y 1 HHS |

J-90-16 21 Paper-I1



34.

35.

36.

Identify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : The past two years have witnessed Indian forward push from Look East to
Act East policy.

Reason (R) : The success of India’s Act East policy will be determined by the speedy and
actual implementation of its programmes.

Codes :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are incorrect.

(3) (A)iscorrect and (R) is not correct.

(4) (A)isnot correct and (R) is correct.

Identify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : Under the US-India Civil Nuclear Agreement, India agreed to separate
civil and nuclear facilities and to place all civil nuclear facilities under IAEA
safeguards and in exchange the US agreed to work towards full civil nuclear
co-operation with India.

Reason (R) : The implementation of the waiver made India the only known country with
nuclear weapons which is not a party to the NPT but is allowed to carry out nuclear
commerce with the rest of the world.

Codes :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are not correct.
(3) (A)iscorrect and (R) is not correct.
(4) (A)isnot correct and (R) is correct.

Arrange the following Indian Airforce operations in the ascending chronological order by
using the code given below :

I. Operation Poomalai ii.  Operation Maitri
iii.  Operation Safed Sagar iv.  Tangail Airdrop
Codes :

@) v, i, il i

(2) i, i, dii, v

(3) i, i, iv, i

(4) i, iv, i
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34.

35.

36.

e (A) 3R T (R) & fod ffefad & & @&t %2 1 w2 S

Afiwe (A) - U=t 31t § IR il % 2 A ¥ Ta T AT Sl 3R oasit & SR el
TETTE |

& (R) : YRT ® TFE T A Bl GHCT B TR $Hh BEHAT & 3d Ud ada®
FHAFEE FRT a1 ST |

ETE

(1) (A) IR (R) I I |

(2) (A) 3R (R) TH Tord € |

(3) (A) T g, W< (R) T ¢ |

(4) (A) e & W (R) Wl € |

fefetEd sifirser (A) 3R % (R) % el 3 I TedH DTy :

AfTEHUT (A) : ITERH-IRA 3 AN G & dia 9Rd 3= (fafaen) ud iy
gﬁmﬁaﬁmmﬁﬁaﬁaﬁa@w:ﬁaﬁag&mﬁaﬁﬂﬁq%q T
(THTEH) § WA T Tedd gaTl o7 | T8 UasT § SR IRd & 91 QU7 3R AT
TEIIT i 9 | e FRA W HeHd g o |

& (R) ;T 9 W FHEFT ¥ YRA AT I o 1o THAT A 397 a9 79 &, e
TAONE, W EEAER Fél U &, TR off 39 91 fova & Qi TNy anfvrss e & 3Tard
T &

%<

(=N

(1) (A) 3T (R) I T & |

(2) (A) 3R (R) I T &I E |
(3) (A)WE W(R) T TRIT |
(4) (A)TETE RR)T T |

e 5T T e 1 AT B gU Frfefad TR aEeen ShEE (feaT TR Sie) S
3T 3TRIET HIoTehH T AT ST

i STEH HeTE i ST A
iii. SR T%g AR iv.  IoT TRE™
H

@ iv i i i

2 i i i v

(3) 1 i Y, I

@ i v i I
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37.

38.

39.

40.

When and where India was invited by ASEAN to be a summit partner ?
(1) Phnom Penh Summit in 2002

(2) Bali Summit in 2003

(3) Vientiane Summit in 2004

(4) East Asia Summit in Kuala Lumpur in 2005

Arrange the following conventions related to human rights issue in the chronological
ascending order of their adoption by using the code given below :

(@) Convention on Civil Aspects of International Child Abduction.

(b) Convention on the Prevention and Punishment of Crime of Genocide.
(c) Single Convention on Narcotic Drugs.

(d) Declaration on the Rights of the Indigenous Peoples.

Codes :

1 © b @ @

2 ® (© @ @

@ @ (@ ((b) ()

4 @ @ (b (0

The ICJ’s hundredth judgement on maritime boundary cases was for which of the
following countries ?

(1) Argentina and Chile
(2) Romania and Ukraine
(3) India and Bangladesh

(4) Denmark and Germany

Who among the following was awarded the Nobel Peace Prize for his work in establishing
the UN Peace-keeping operations ?

(1) Jimmy Carter (2) Boutros-Boutros Ghali
(3) L. Pearson (4) Bank Ki Moon
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37.

38.

39.

40.

AT §RT YR hl el 3 el [ET TFHol o Ueh GRS o ©9 | SAHE fhar Ty o1 ?

1)
()
(3)
(4)

2002 ¥ M U forew geer

2003 H et e g

2004 = Tag=rema= TR T e

2005 H Ao Y | ST gat Tl frew qeier

T 53 T P B Tl § HHAIUHR A et FEfeiad et $ 3% WieR 6 ST

% 3TRIE! et HHIR SFARId DT

a.

ST 16T STUEROT & AN Jge] Faell HAaAvH |
ST TER & TR & FaRvl Ud €€ Tael FHovH |
IS ZaTel o TG H Tl FHIoe |

SUIST AT o SR & Hwaifed =T |

o O
o (o
D QD
o o

FYgadt |1 Al % GeY § SRS e S it hde FEfetad § 9 5 39 & o

o 2

(1)
()
3)
(4)

STST2IAT T = el

AT AT ot
O T AT
SR AT STEAT

fefafa § & foraent S T St oA SAREET | 39 AMRH & fod Jee Sifd [WEhR 9
G feRaT T o7 2

1)
3)
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TSt e (2) TRE-FARH =Tt
T, foeRE (4) SEH® g
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41.

42.

43.

Match the following operations as given in List — | with the countries in which they
occurred as mentioned in List — Il by using the code given below :

List — I (Operations) List— Il (Countries)
a. Operation Deliberate Force i.  Afghanistan
b. Operation Restore Hope ii. Cuba
c. Operation Mongoose iii. Somalia

d. Operation Enduring Justice  iv. Bosnia

Codes :

a b c d
@ i ii i v
(2) iv i i [
3) ii [ iv i
4) iii v i ii

In 2011, the US vetoed a UN Security Council Resolution related to which one of the
following matters ?

(1) Israel’s settlement in the occupied Palestinian territory.
(2) Chinese activities in the South China Sea.
(3) Tamil issue in Sri Lanka.

(4) Dumping of hazardous wastes in the seas.

Identify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : Though there is threat perception among ASEAN members, there is
limited agreement on external threats among them.

Reason (R) : China’s threat to South-east Asia was viewed with seriousness by Vietnam,
Indonesia and Malaysia than their ASEAN partners.

Codes :

(1) (A)is correct, but (R) is not correct.

(2) Both (A) and (R) are correct and (R) supports (A).
(3) Both (A) and (R) are wrong.

(4) (A)isnot correct, but (R) is correct.
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41. S ST T Fe H VAT Fd §T G — | H KU M0 SR () @ gw= - || H KT e S e
I % 1 AT AT

= - | = - 1

(ATIT) (™)
a. SMOFIfERe ®E i AETHEE
b, SR Y@ & i, g
C. STYH BT iii.  HrATeTan
d. STReH T Shed iy, St
&

a b c d

@ i i i v
@ iv i i
@ Qi i v i
@ i v i i

42. 992011 H G 5T AN 7 Fefeiad B 9 69 qmer § G T GOt Iiug % Ire )1
3T el ST SUANT AT 2

(1) hostarer et & & gorreett it
(2) =feror = QR H = fatatet

(3) icieht ¥ afhet Ter

(4) TYZ T TARATH STARIE UM i b

43. i fgu T sifiser (A) 3R 9% (R) & TEl e i TedH Hifu ;

Afme (A) ;NI & T 90 H TR H ST €, Al 9 Tl & aR H 3% o
it Geqid ¢ |

% (R) : TRAUT-gE Ui % i 9 % @ i fogam, TERRE iR qelfvEn 3 et
S-SRI Sl TorT | THR | 7 |

&

(1) (A)WE T(R) TR E |

(2) (A)TE (R) IHT Tl € 3T (R), (A) T THIT FATE |

(3) (A) 3R (R) I TToid € |

(4) (A)TETEE W(R)TE |
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44,

45.

46.

47.

“Western end of the Straits of Malacca is like open mouth of a crocodile with the Malay
Peninsula and Sumatra forming the Upper and Lower jaws respectively.” Find out the
name of the historian who gave this statement among the given below names :

(1) D.G.E. Hall (2) K.M. Panikkar

(3) JohnF. Cady (4) D.R. Sardesai

The pet programme called ‘Doi Moi’ launched in Vietnam was aimed to achieve which

one of the following mentioned results ?
(1) Political Pluralism

(2) Social equality

(3) Religious freedom

(4) All round renewal and renovation

According to an agreement signed between India and Bangladesh in July 2015,
Bangladesh enclaves in India and Indian enclaves in Bangladesh were swapped between
the two countries with effect from the midnight of 31% July, 2015. Select the correct

number of enclaves exchanged between the two countries.

(1) India handed over 50 enclaves, while Bangladesh handed over 112.
(2) India handed over 51 enclaves, while Bangladesh handed over 111.
(3) India handed over 41 enclaves, while Bangladesh handed over 121.

(4) India handed over 52 enclaves, while Bangladesh handed over 110.

The US drone attack in Pakistan killed the Taliban leader, whose name was
(1) Mullah Akhtar Muhammad Mansour

(2) Mullah Mohammed Omar

(3) Sirajuddin Haggani

(4) Mohammad Mallik Ishak
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44,

45.

46.

47.

HCToRRT STOTSHEHE 3T U=l 37d afedret % Gol Yg ST &, [STaeh 919 Ior WEaia 37 gum
AT O ST (el STg ol 3R A1 & | A U T Tl § 9 39 SaeTeer Sl A Jdq1gy,
ST SIRIeRT e et o

(1) ST B (2) HTA. g
(3) S\ U e (4) <R, WERAE

fauam o 3= T T fafre e e A’ TEteiad o @ fha 3299 @t witd & ford ar ?

(1) TSHITTR Sgerag

(2) QM@ FHHAT

(3) s T

(4)  waiioT eleRoT U TeER

SJeATE 2015 | 9RA 3R STARY & S g&deR 63 T T & SER 31 S 2015 H g
BT & A 0 & A IR H AR STaE 3R SRy § YRAE a5 6l SEH-UH
T | T ST o S SIS (o6 T 3118331 bl ol AT STy |

(1) 9RA = 50 378 G STalfeh Seresr 7 112 3783 9T |

(2) YR = 51 378 G0 eIk Seres 7 111 378 9 |

(3) 9RA A 41 3ia.e WY Sk SRy F 121 378 9 |

(4) 9RA = 52 378 G STelfh Semeer 7 110 37 &F 9 |

IR WX 3THRER S gHet | Uk Alfcta ~al JRT T | ST AT o7 ;

(1) Hooll &R AEHE HYY

(2) Yool AR™R 3

(3) TS gaRmM

(4) TEET AicTd TMH
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48. Arrange the following in their ascending chronological order and use the code given
below :

I. Partnership and Co-operation Agreement between Russia and the EU.
ii.  New (Basic) Agreement between EU and Russia.

iii. Agreement on Co-operation in Science and Technology between European
Community and Russia.

iv.  Eastern Partnership Initiative.

Codes :

@ i i i v
@ i i i v
@) i v i i
4 iv i i i

49. Inthe 1990s, in which one of the following conflicts Russia was not involved militarily ?
(1) Georgian Conflict
(2) Moldona Conflict
(3) Tajikistan Conflict

(4) War in Afghanistan

50. As a Mark of Peace Process, which CIS member signed the ‘General Agreement on the
Establishment of Peace and National Accord’ in 1997 ?

(1) Turkmenistan
(2) Tajikistan
(3) Kyrgyzstan

(4) Uzbekistan
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48. ARG I 3% STRIE HICHHT H AT HITT 3R == [§T TT e 1 JFHT HIT :
i B9 IR T Y % A WERN U TeanT THEd
i, Tg AR T % G A (YoT) AHE
i, AN TS SR & & &9 9w e v § 9eanT waHeit
iv. YA GRRR T
%
@ i i i v
2 i i i v
@) i v i i

@ v o0 i

49. 1990 % 391 § wH ffeiiad § ¥ foh Ta | 9 e ®9 9 W T8l o 2
(1) ST ge
(2) HieeHT Ty
(3) IR Here
(4) STHEMHEE H 5

50. frefcifEa O 9 91.2ME.uq. & 60 WS = T UTshaT & U Udish & 9 H 1997 T “SReT WHHS
A T TR 3 9 Ug A9 Uk’ T g&anel {5 & ?

(1) TR
(2) TSR
3) femriie
(4) SoefREH
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